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7 8 10

= ( )

0.1 H6= = = =

a=6, b=1 .

a+b=6+1=7

7635 .
7600 .

7600-7635=-35( ) .
7, 6 2 .

h
4ab¤ _7a¤ b_h=56a‹ b› 28a‹ b‹ _h=56a‹ b›

h= =2b

( )=2x+y-(5x-2x+6y)
=2x+y-3x-6y=-x-5y

A=-1, B=-5 A-B=4

( )=(4a-b)(3a-2b)+b_2b
=12a¤ -8ab-3ab+2b¤ +2b¤
=12a¤ -11ab+4b¤

56a‹ b›
28a‹ b‹

b
a

b
a

1
6

15
90

16-1
90

3
2_5¤

9
2_5¤ _3

3x-y-2=0 y y=3x-2
2(x-3y)+5y=2x-6y+5y

=2x-y
=2x-(3x-2)
=-x+2

A={(2, 4), (5, 2)} n(A)=2 .

x , y

[

_500- -400x=-2000
x=5

x=5 5+y=8  y=3
3 .

-3x-2x>a-1, -5x>a-1  x<

x<1 =1, 1-a=5  a=-4

x-2<3-4x 5x<5 x<1

…;3!;x+2 12

3-3x…4x+24  xæ-3
-3…x<1

a=-3, b=1
a+b=(-3)+1=-2

y=ax+4 (1, 2)
2=a+4  a=-2
y=-2x+4 (b, -4)
-4=-2b+4  b=4

a+b=(-2)+4=2

y=2x+4 x -2 .

2 2, 4, 6, 8 4
5 5 1

(2 5
)=4+1=5( )

2_2_2=8( ) , P
1 2 , 1

2 , 1
( , , ), ( , , ), ( , , ) 3

.

( )=;8#;

1-x
4

1-a
5

1-a
5

x+y=8          
900x+500y=6000 

= ( )

= = ( )

( )

= ( )3
2‹ _7

21
2‹ _7¤

7
2¤ _3

2
3¤

10
3¤ _5

10
45

5
3‹

5
27
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17 4 90

2 5 .

A = ( )

B = ( )

C = ( )

A, C .

0
p(3.141592 )
.
0. H42H3 423 .

.

7
2_5

42
60

11
3_5

44
60

4
5

48
60

( )
=1-( )

=1-[{1-;3!;}_{1-;5@;}]

=1-{;3@;_;5#;}=;5#;

ABD ACD
AB”=AC”, AD” , BAD= CAD

ABD™ ACD(SAS )

ABD™ CAE(RHA )
AE”=BD”=5(cm)

CE”=DA”=DE”-AE”=8-5=3(cm)

OA”=OC” OAC= OCA=40
ABO
OAB+ OBA=180 -120 =60

2 OBC=180 -(60 +40 +40 )=40
OBC=20

A=180 -60 =120

DAE=120 _;5@;=48

ADE
AED=180 -(48 +60 )=72

ADEª ACB(AA )
5 (4+CE”)=4 8, 16+4CE”=40
4CE”=24   CE”=6(cm)

G
.

EGDC=;3!; ABC=;3!;_60=20(cm¤ )

x y 2 x=2y

[ x=2, y=1

x=2, y=1 2x+y=a-2
4+1=a-2 a=7

x=2y
3x-2y=4

4 y=4x+b

(1, -4)
-4=4+b  b=-8

y=4x-8 .
x 2 , y -8

( )=;2!;_2_8=8

AD”=GF”=HC”=7

BH”=14-7=7
3 7=EG” 7
EG”=3

EF”=EG”+GF”=3+7=10

SSS

SAS

AA

A

B C

D

F
G

H

7

14

3

4

7

77

E

2

y

x

-8

O
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3+4+5=12( ) ,
4

( )=;1¢2;=;3!;

6_6=36( ) ,
4 (1, 3),

(2, 2), (3, 1) 3 ,
9 (3, 6), (4, 5), (5, 4), (6, 3)

4

( )=;3£6;+;3¢6;=;3¶6;

x
.

AB”=AC” ABC= ACB= x
AC”=DC” CDA= CAD=2 x
BCD x+2 x=108
x=36

I r

;2!;_r_(6+8+10)=;2!;_6_8

r=2(cm)

IBC=;2!;_8_2=8(cm¤ )

AB” DF” BAE= DFA( )
DAF DA”=DF”

DF”=12(cm)
CF”=DF”-DC”=12-8=4(cm)

OA” OA”'’=1 2

AB” AC”=BD” CD”
6 4=BD” (5-BD”), 4BD”=30-6BD”
10BD”=30 BD”=3(cm)

ABC M”F”=;2!;BC”=;2!;_10=5(cm)

ABD M”E”=;2!;AD”=;2!;_6=3(cm)

EF”=M”F”-M”E”=5-3=2(cm)

10_;2!;=5(g)

A (560-5) g…A<(560+5) g
555 g…A<565 g

(2a‹ b¤ )‹ =8a· bfl

( )=-2x+3y-4y+5x

=3x-y=3_;3!;-2

=1-2=-1

x=a, y= 3x-7y=1

3a-7_ =1

3 9a-7a+7=3
2a=-4  a=-2

[ [

- -2y=-2 y=1
y=1 2x-7=5 x=6

-a+5<-b+5 -a<-b
a>b

500 x 300
(16-x)

[ 8<x…;;¡2ª;;

9 .

x 2, y 3 , -;2#;

3x+2y-6=0

y=-;2#;x+3 .

(-4, 2) x
y=2

, 4, 7, 10, 13,
x y

y=3x+1 .
53

y=3_53+1=159+1=160( )

1 , 1
.

2 ,
4 2_4=8( )

500x+300(16-x)…6700
x>16-x

2x-7y=5 
2x-5y=7 

2x-7y=5      
4x-(2x+5y)=7

a-1
3

a-1
3
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21 4 25 cm¤

(2x+ay)(x-y)=2x¤ -2xy+axy-ay¤
=2x¤ +(a-2)xy-ay¤

xy 3
a-2=3  a=5

( )=;2!;(a+b)h

( )=5b

;2!;(a+b)h=5b 

2 (a+b)

h=

x=3, y=-2 x+ay=9
3-2a=9, -2a=6  a=-3

x , y

[ x=20, y=40

20
.

x y 2 1 x=2y y=;2!;x

[ x=-2, y=-1

x=-2, y=-1 x-y=3-a
-2+1=3-a, -1=3-a  a=4

;3!;x+1> -x 12

4x+12>3(5x+3)-12x
4x+12>15x+9-12x  x>-3

2x-4<4x+a, -2x<a+4  x>

-3= a=2

3(x-2)<2x+3 3x-6<2x+3
x<9

2x+3…4(x+3)+1 2x+3…4x+13
-2x…10  xæ-5

-5…x<9
M=8, m=-5 , M+m=3 .

a+4
-2

a+4
-2

5x+3
4

y=;2!;x

3x-y=-5

y=x+20
100x+50y=4000

10b
a+b

100 g
3, 9, 0 .

39000=3.90_10› g

(2xå )∫ =2∫ _xå ∫ =32x⁄ fi =2fi x⁄ fi
b=5, ab=15 a=3
(x‹ )› ÷(x¤ )‹ ÷(x¤ )ç =x⁄ ¤ ÷xfl ÷x¤ ç

=xfl ÷x¤ ç =

2c-6=10  c=8
a-b+c=3-5+8=6

1
x⁄ ‚

x¤ +y¤ =(x+y)¤ -2xy
=25-2_4=17

2x+3>9 2x>6  x>3
3x-1æ4x-a

-xæ-a+1  x…a-1
a-1…3

a…4 a 4

ABE™ BCF(SAS )
BAE= CBF=( ),
AEB= BFC=(_)
ABE B=90
BAE+ AEB=( )+(_)=90
BEO
CBF+ AEB=( )+(_)=90
BOE=90

AOF= BOE=90 ( )

.
2.4242 >2.42
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y=2x y -4
y=2x-4

y=2x-4 y=0
0=2x-4, 2x=4 x=2

x a=2 .
, y=2x-4 x=0 y=-4

y b=-4 .
ab=2_(-4)=-8

-3
-3 ,

(2, -1)
y=-3x+b x=2, y=-1
-1=-6+b b=5

y=-3x+5 .

2_2_2=8( )
6_2=12( )

2, 3, 5 3
.

3_2_1=6( )
4+3=7( )

6_6=36( ) ,
3x+y=10 (2, 4), (3, 1)
2 .

( )=;3™6;=;1¡8;

;1¢0;

;9#;

( )=;1¢0;_;9#;=;1™5;

ACE™ ADE(RHS )
CAE=30 BAC=60
ABC ABC=180 -(90 +60 )=30
DBE DEB=180 -(90 +30 )=60

DBI, EIC
BD”=DI”, CE”=E’I’

( ADE )
=AD”+DE”+EA”
=AD”+(D’I’+I’E’)+EA”
=(AD”+DB”)+(CE”+EA”)
=15+12=27(cm)

AB” DC”, AB”=3 cm, DC”=3 cm
AD” BC”, AD”=3 cm, BC”=3 cm

.

ABE
AEB=180 -(90 +28 )=62
AEF= FEC( )

AEF=;2!;_(180 -62 )=59

4 EF”=3 2  EF”=;3*;(cm)

BC” FG”=6 4=3 2

ABCª EOC(AA )

6 OE”=8 5 8OE”=30 OE”=;¡4∞;;(cm)

AOF™ COE(ASA )

EF”=2OE”=;;¡2∞;;(cm)

ABC GD”=;3!;AD”=;3!;_9=3(cm)

GBC GG”'”=;3@;GD”=;3@;_3=2(cm)

= , = N

N
3_7=21 .

N 21 .

[ x=-1, y=3

x=-1, y=3 ax+3y=5
-a+9=5  a=4

PAB+ PCD=;2!; ABCD

15+ PAB=40  
PAB=25(cm¤ )

3x+2y=3
2x-4y=-14

7
2‹ _3_5

7
120

3
2_5_7

3
70
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W Hey, Paul. Why don’t we play badminton

sometime?

M Great idea. When is good for you?

W How about tomorrow at three?

M Sorry, I can’t. I have to go to a swimming

lesson tomorrow.

W Um... how about Wednesday at five?

M Wednesday at five? That sounds good.

M Hello.

W Hi, Mike. This is Jenny.

M Hi, Jenny. What’s up?

W Are you free tonight? How about

having dinner with me?

M That’s a good idea.

W I’ll pick you up at six.

M O.K. See you then.

W Jimmy! Don’t run upstairs! You might

slip!

M All right. (He slipped.) Ouch!

W Are you all right, Jimmy?

M I think so, Mom. But my arm hurts.

W Oh, my! Let me see your arm.

Kevin Paris Suzy

Kevin Kevin

Nov. 22nd

the heading the body

heading

body

It is the main message.

It The body

M What a great place for a picnic! Let’s

eat the food out of the car. There is a

good place over there on the grass.

W No, Tom. Look at the sign over there.

We can’t eat on the grass. We have to

eat on the picnic table.

M Oh, I’m sorry. I didn’t see it.

M Excuse me. Can I get a room?

W Sure. What kind of room do you want?

M I need a single room. How much?

W It’s $50 a night.

M $50 a night?

W Yes. How long will you stay?

M For two nights.
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W What’s the matter with you?

M My father bought me an MP3 player

last week, but I lost it.

W Did you look everywhere for it?

M Yes, but I couldn’t find it.

W Why don’t you tell your father you

lost it?

M I can’t. He’ll be angry with me.

W Let’s eat out tonight.

M Well... How about eating at home?

W I’m tired. I don’t feel like cooking.

M Don’t worry. I’ll make delicious food

for you.

W Will you? Thanks.

M My pleasure.

M I’d like to exchange these shoes.

W Something wrong?

M They are too small for me. Do you

have larger ones?

W Sure. Would you like the same color?

M Yes, please.

M Go to the white board. Write 1, 2, 3.

Write A, B, C. Draw a circle around

number 3. Draw a line under B.

Mike

National Gallery

British Museum

River Thames

Jenny

Sam Tommy

who, on, to

Tom
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Thank you. / Excuse me. / I’m sorry.

K-1

Not really.

noodles, tomatoes

Cathy Namsu

Namsu is better than Cathy

in English.

W There is a plant.

There are five people.

Two women are wearing skirts.

The boy is wearing shorts.

One of them is wearing glasses.

It’s raining cats and dogs.

It’s

raining heavily.

(Telephone rings.)

M Hello. John’s Restaurant.

TV

W What’s on TV?

M The news.

W Well, I want to watch another program.

M Let me see. There’s a quiz show on

Channel 2, and a documentary about

animals on Channel 4, and...

W A documentary about animals? Good!

Let’s watch that!

M OK.

��



(It comes

after August and before October.)

(February) (September)

(nervous)

(happy)

You can say that again.

Betty

one a swimsuit

EBC Talk Show Star Date

TV

TV

Henry

Sabriye

decide to

Mark

Mrs. Kim Ann

Susan

W Do you want to see my e-pal, Susan?

She lives in New York.

M Yeah, I’d love to.

W OK. I’ll show you a picture. Guess

which one she is.

M Will you give me some hints?

W Well, I can tell you this much. She’s

wearing a skirt and a backpack.

(pause) Oh, one more thing. She’s

wearing a hat.

W How’s your French class going?

M Not bad, but I’m finding the

pronunciation difficult.

W Well, it takes time. You could improve

your accent by listening to tapes.

M That’s a good idea. Maybe I should try

something like that.

W Good luck.

W How was your trip to Korea?

M Great! I have something for you.

W Thanks a lot. What is it?

M This is a miniature musical instrument.

It’s a Korean traditional drum.

W Oh, this drum is so cute. I like it.

M I’m happy to hear that.

W Hello. I’d like to make a reservation

for tonight.

M For what time, please?

W Seven o’clock.

M Seven o’clock. How many people?

W Emm... Five.

M OK. A group of five. What’s your

name, please?

W Chris Lee.
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= _ _
=1_0.5_(60-40)=10(kcal)

C
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.

A
B, C .

A B C D
E

A B
C D

-1 A
3 C 4

2.5› ?40

. 3
.

. 200

A
B
C
D

A

B
C

Na±
Cl—

5 10 15

A D E K

B C

( ) (C) (D)
( ) .

BB'C 25 h̀ 25

2pR 360 =l h

R= _ = =24(cm)

+A( ), +C( ),
+D( )

, A( )+C( )+D( )
. +

.

360_10
25_2_3

l
2p

360
h
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A
B

C

A B
A B=3 1

A B=1 3
B 20kcal/æ_3=60kcal/æ

4
4

17

= =

A , B

.

1 1

1

A

3

360 2pR=30 10cm

R= =20 cm

.

A B C D E
F G H

A C

0.05 ,

=20Hz .

,
. ,

.

1
0.05

1

360 10 cm
2_3_30
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= _ _
=1kcal kg æ_5kg_(25-15)æ=50kcal

> >

=2 1 A B

1

A B
2 1

H™O

D

2pR 360 =l h, R= _

11

A B

A 40 40
B A

40 40

l
2p

360
h

10 ;10!0;

100 5
-2 3

,
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. 10cm
.

. 1
.

S E¡SE™=0.2" 0.1"
S

10pc

A
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8 18 2

2
5
A={ 1, 2, 3, 4, 5, 6, 8 }

;4!;<0. Ha<;2!; ;4!;<;9A;<;2!;

;4(;<a<;2(;, 2.25<a<4.5

a 3, 4 a
3+4=7 .

0.1 cm
0.05 cm=0.5 mm .

21.4 cm .
2, 1, 4 .
10

2.14_10 cm .

8x‹ y÷4x› y¤ _,;;;;;.=6xy

_,;;;;;.=6xy, _,;;;;;.=6xy

,;;;;;.=6xy_ =3x¤ y¤

( )=4x¤ -12x+9-(x¤ -x-2)
=4x¤ -12x+9-x¤ +x+2
=3x¤ -11x+11

x a=-11, b=11
a+b=-11+11=0

xy
2

2
xy

8x‹ y
4x› y¤

(a+b)¤ =a¤ +2ab+b¤
(a-b)¤ =a¤ -2ab+b¤
(a+b)(a-b)=a¤ -b¤
(x+a)(x+b)=x¤ +(a+b)x+ab
(ax+b)(cx+d)=acx¤ +(ad+bc)x+bd
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- >-2 6

2(x-1)-3(x+2)>-12, 2x-2-3x-6>-12

-x>-4  x<4

x 1, 2, 3 3

4x-7…x+2 3x…9  x…3

;2!;x>0.3x-0.4 10

5x>3x-4 x>-2

-2<x…3 , A=-2x+5

-1…A<9 .

;2!; , y 2

y=;2!;x+2 .

x+2
2

x-1
3

3(A-2B)+2B=3A-6B+2B

=3A-4B

=3(x+2y)-4(2x-y)

=3x+6y-8x+4y

=-5x+10y

x=-2, y=-7 ax-y=3

-2a+7=3, -2a=-4 a=2

x=1, y=b 2x-y=3

2-b=3, -b=1 b=-1

[ , [

[ x=-1, y=3

x=-1, y=3 2x-y=a

-2-3=a a=-5

x=-1, y=3 x+by=5

-1+3b=5  b=2

a+b=(-5)+2=-3

x , y

[ x=250, y=100

250+;10̂0;_250=265( )

x+y=361-11

;10̂0;x-;10$0;y=11

x+y=2
-x+y=4

-x+y=4
x+by=5

x+y=2
2x-y=a

a ;2!; . b 2 .

3 cm 1 cm
y=2(3x+1)=6x+2

3_3=9( ) ,
20 20, 21, 23, 30, 31, 32

6 .

( )=;9̂;=;3@;

,

;4#;_;3@;=;2!; ,

;4!;_;4#;=;1£6;

( )=;2!;+;1£6;=;1•6;+;1£6;=;1!6!;

6 3 6
3

A= x

DBE= A= x( )
ABC= ACB= x+30

ABC
x+( x+30 )+( x+30 )=180

3 x=120 x=40

a+b=0 a=0, b=0
-1+1=0 a=-1, b=1 a=0,
b=0

a+b a, b
1+4=5 4
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BOC=2 A=100

OBC=;2!;_(180 -100 )=40

ABC=2!;_(180 -50 )=65

IBC=2!;_65 =32.5

OBI= OBC- IBC=40 -32.5 =7.5

AB”=B’M”=CD”=CM”=3(cm)
AD” BC”
BAM= BMA= MAD= a
CDM= CMD= MDA= b
A+ D=2 a+2 b=180

a+ b=90
AMD=180 -( a+ b)=90

AOB=90

ABCD=2_{;2!;_16_5}=80(cm¤ )

ABC A'B'C'=1 1
ABCD A'B'C'D' 1 4

BCD BD”=2M”N”=30(cm)
P, Q ABC, ACD
BO”=OD”

BP”=PQ”=QD”=;3@;BO”=;3!;BD”

=;3!;_30=10(cm)

A

[

-2x-4+6=0
-2x=-2, x=1 A(1, 4)

C x x
-2x-0+6=0, x=3 C(3, 0)

OC”=3, B(0, 4) AB”=1, OB”=4

ABOC=;2!;_(1+3)_4=8

a=4_3=12( ), b= =6( )

a+b=12+6=18

ABPª CDP
BP” DP”=AB” CD”=3 6=1 2
BCD BP” PQ”=BD” DC”

1 PQ”=3 6, 3PQ”=6  PQ”=2

4_3
2_1

y=4         
-2x-y+6=0 

boarding pass, flight

Tony

W Tony, what are you doing here?

M I’m looking for something to eat.

W It’s one o’clock in the morning.

M I know, but I’m too hungry to sleep.

W Emm... It’s too late. You should go to

bed.

M

W Good morning, sir. May I see your

boarding pass?

M Yes. Could you tell me where my seat

is?

W Let’s see. 27A is a window seat. This

way, please.

M Thanks.

(pause)

W Have a nice flight.

M This woman is wearing a white dress.

She is not wearing a hat. She is

standing on a box.



Tom

B

TUESDAY LIBRARY TEN

Bond

lady

Andy

Tom Jane

Tom

W Hi, Tom. You look very upset. What’s

wrong?

M I have a science test tomorrow. But

someone took my science notebook. I

can’t find it. I’m really upset.

W That’s too bad. You can borrow my

notebook.

M Good morning. Welcome to the

Weather Center. Today, it will be

sunny and a little windy. You can

enjoy the beautiful sunshine. However,

this evening, it will be cloudy and

there is a chance of snow. Tomorrow,

it will snow all day.
Five students Two students Four

students Six students Theaters

Shopping malls Shopping malls are

more popular than museums.

D

Andy
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1kg 1æ

= _ _
4.2kcal=0.21kcal/kg æ_ _10æ

2kg

Li, Na, K, Rb, Cs,
Fr

1 +1
2 -2

2

A B C D
E

;4!; 3

12

A B C D
E

E

A
B

A 0.05"
A 20 pc

(B C)


